"ATTACHMENT 2" PROPOSAL BID FORM

City File No.: EN-14-001

1

Project: Sidewalk Construction

Account 34.1413.13453.541.006303 No.: 34.1400.15305.541.006303 34.1403.71305.541.006301

If this Proposal is accepted the undersigned Bidder agrees to complete all work under this contract within **365 CALENDAR DAYS** after the effective date established in the Notice to Proceed. Please note that a maximum of two work crews will be allowed at any given time to construct sidewalks. **UNIT PRICE PREVAILS OVER TOTAL PRICE**. All entries to this form must be typed or written in ink.

	DESCRIPTION	<u>Qty</u>	<u>Unit</u>	Unit Price	Total
	FOR THE CONSTRUCTION OF NEW SIDEWALK, REPAIRS TO EXISTING SIDEWALK AND CONSTRUCTION OF NEW OR REPAIRS TO EXISTING A.D.A. RAMPS THROUGHOUT THE CITY OF HOLLYWOOD, FLORIDA.				
	New Sidewalk				
Α	Asphalt & Concrete Removal				£.
a)	Removal of existing asphalt to accommodate sidewalk.	1,000	SF	\$1.00	\$1,000.00
b)	Removal of existing concrete sidewalks, concrete aprons, concrete driveways, etc.	1,000	SF	\$1.00	\$1,000.00
c)	Removal of existing curb & gutter.	200	LF	\$1.60	\$320.00
	a gattor.				

00301-1(revised 3/12/2015)

	DESCRIPTION	Qty	<u>Unit</u>	Unit Price	Total			
В	Miscellaneous Relocations/Resets:							
a)	Mail Box	15	EA	\$45.00	\$675.00			
b)	Signs	15	EA	\$45.00	\$675.00			
c)	4' high Chain Link Fence Replacing parts only as necessary.	100	LF	\$7.00	\$700.00			
d)	6' high Wood Picket/PVC Fence, replacing parts only as necessary.	100	LF	\$9.00	\$900.00			
e)	Utility Box Reset	10	EA	\$250.00	\$2,500.00			
с	Miscellaneous Removals:							
a)	Palm Tree, 8" dia. or less	5	EA	\$100.00	\$500.00			
b)	Tree, 4"-8" dia.	5	EA	\$150.00	\$750.00			
c)	Tree, 8"-12" dia.	5	EA	\$350.00	\$1,750.00			
d)	Tree, 12"-18" dia.	2	EA	\$600.00	\$1,200.00			
e)	Tree, 18"-24" dia.	2	EA	\$800.00	\$1,600.00			
f)	Hedges	50	LF	\$40.00	\$2,000.00			
D	Concrete:							
a)	Installation of 4" thick concrete for sidewalks, driveways, driveway aprons, ramps, including clearing and grubbing, (hedge trimming, tree trimming, hedge removal, bush removal and misc. removal), excavating, backfilling, grading, compacting, sprinkler repair and detectable warnings for all ramps, etc. Work to be complete in place and as specified.	10,000	SF	\$3.45	\$34,500.00			
b)	Installation of 6" thick concrete for sidewalks, driveways, driveway aprons, ramps, including clearing and grubbing, (hedge trimming, tree trimming, hedge removal, bush removal and misc. removal), excavating, backfilling, grading, compacting, sprinkler repair and detectable warnings for all ramps, etc. Work to be complete in place and as specified.	5,000	SF	\$4.45	\$22,250.00			
	00301-2(revised 3/12/2015)							

	DESCRIPTION	<u>Qty</u>	<u>Unit</u>	Unit Price	Total
c)	Installation of Type F Curb & Gutter.	100	LF	\$16.00	\$1,600.00
d)	Installation of Type D Curb.	100	LF	\$14.00	\$1,400.00
Е	Site Work:				
a)	Provide and install Argentine Bahia Sod, including site grading, site compaction and maintenance of sod. Complete in place and as directed by the Engineer.	1,000	SF	\$0.50	\$500.00
b)	Provide and install Floratam Sod, including site grading, site compaction and maintenance of sod. Complete in place and as directed by the Engineer.	15,000	SF	\$0.45	\$6,750.00
c)	Asphalt: Type S-III asphaltic concrete surface course with RS-2 tack coat delivered and placed as directed, (thickness varies, maximum thickness 2").	1,500	SF	\$3.00	\$4,500.00
	Removal & Replacement of Existing Sidewalk Concrete:				
Α	Concrete:				
a)	Remove and replace existing concrete with 4" thick concrete including clearing and grubbing, concrete and/or asphalt removal, excavating, backfilling, grading, sprinkler repair and sod restoration.	45,000	SF	\$3.50	\$157,500.00

00301-3(revised 3/12/2015)

	DESCRIPTION	Qty	<u>Unit</u>	Unit Price	Total
b)	Remove and replace existing concrete with 6" thick concrete in driveways and ramps, including clearing and grubbing, concrete and/or asphalt removal, excavating, backfilling, compacting, grading, sprinkler repair, sod restoration and detectable warnings, for all ramps, etc. Work to be complete and in place as specified.	10,000	SF	\$4.50	\$45,000.00
в	Site Work:				
a)	Removal of tree roots under sidewalk, transport from site.	20,000	SF	\$0.15	\$3,000.00
b)	Importing limerock, including the cost of placing, grading, compacting, etc. in locations as directed by the Engineer.	498	СҮ	\$20.00	\$9,960.00
c)	Prime coat over limerock				
	in preparation for asphalt, where necessary.	100	SF	\$1.00	\$100.00
d)	Importing clean fill, including the cost for placing, grading, compacting, etc., as				
	directed by the Engineer.	200	CY	\$15.00	\$3,000.00

	DESCRIPTION	<u>Qty</u>	<u>Unit</u>	<u>Unit Price</u>	<u>Total</u>
	Installation of New And Replacement Of Existing A.D.A Ramps				
A	New Ramps Removal of existing asphalt to accommodate				а. 1
a)	new ramps.	100	SF	\$1.00	\$100.00
b)	Removal of existing curb & gutter to accommodate new ramps.	100	LF	\$6.00	\$600.00
c)	Removal of existing curb to accommodate new ramps.	100	LF	\$6.00	\$600.00
d)	Installation of 6" thick concrete including clearing and grubbing, miscellaneous removals excavating, backfilling, grading compacting, sprinkler repair and detectable warnings, etc. Work to be complete in place and as specified	1,000	SF	\$6.00	\$6,000.00
e)	Installation of 4" thick concrete including clearing and grubbing, miscellaneous removals, excavating, backfilling, grading, compacting, sprinkler repair, etc. Work to be complete in place and as specified.	750	SF	\$5.00	\$3,750.00
В	REMOVAL & REPLACEMENT OF EXISTING RAMPS:				
a)	Remove and replace existing concrete with 6" thick concrete, including clearing and grubbing, asphalt removal, excavating, compacting, grading, detectable warnings. Etc.	300	SF	\$6.00	\$1,800.00
	warnings. Ltc.	300	31	φ0.00	φ1,000.00

00301-5(revised 3/12/2015)

	DESCRIPTION	<u>Qty</u>	<u>Unit</u>	Unit Price	Total
b)	Remove and replace existing concrete with 4" thick concrete, including clearing and grubbing, asphalt removal, excavating, compacting, grading, etc.	100	SF	\$5.00	\$500.00
	DAVIS-BACON ACT This item relates to sidewalk construction carried out pursuant to the Davis-Bacon Act and recognizing wage rates reflected in the General Decision FL 20070037				
	Differential increase in unit price (if any), over and above unit prices for construction of 6" thick sidewalk, 4" thick sidewalk and ramps.	16,000	SF	\$0.20	\$3,200.00
	ART IN PUBLIC PLACES This item relates to sidewalk construction carried out as part of art in public places. Coordination between the artists and the sidewalk contractor will be needed when pouring sidewalk sections that will have artwork placed within the wet concrete.				
	Differential increase in unit price (if any), over and above unit prices for the construction of 6" thick colored concrete sidewalk, 4" thick colored concrete sidewalk and ramps.	15,000	SF	\$1.50	\$22,500.00
	TOTAL BASE BID				\$345,000.00
	TOTAL BASE BID IN WRITING			Three Hundred Forty and zero cents	Five Thousand Dollars
	CONTRACTOR COMPA	NY NAM	E	Coreland Constructio	n Corp.

00301-6(revised 3/12/2015)